
In vigore dal - Effective from    15-12-202164

T1

P

Y

T

X

U

Z

Rookie

N

M

Mini NEOS

L

Mini KID

Rok Shifter

J

Left

Right

K

H

Right

Left

I

Rok - KZ

K1

RKZ

G

OK - Rok DVS

F

RotaxRok GP

EQ

O

O

D

R

V

S

W
R

V

S

CBA

ACCESSORI MARMITTA
EXHAUST SYSTEMTav. 30



Rif. Cod. EXHAUST SYSTEM ￥

30 Description Tax  included
A 0061.00 OTK ｻｲﾚﾝｻｰﾎﾙﾀﾞｰ Silencer’s cradle-holder Ø 100 mm 4,950
B 0061.A0 Culla porta-marmitta Ø 120 mm Silencer’s cradle-holder Ø 120 mm 0
C 0061.B0 KZ ｵｰﾊﾞﾙｻｲﾚﾝｻｰﾎﾙﾀﾞｰ Silencer’s oval cradle-holder KZ 14,190
D 0256.GA OTK ｻｲﾚﾝｻｰｻﾎﾟｰﾄﾌﾞﾗｹｯﾄ 2015 Exhaust support 5,500
E 0256.IC ｻｲﾚﾝｻｰｻﾎﾟｰﾄｽﾃｰ/ STD(L) Rok GP Exhaust support 4,180
F 0256.IB ｻｲﾚﾝｻｰｻﾎﾟｰﾄｽﾃｰ/ROTAX 175mm Rotax Exhaust support 3,300
G 0256.IA ｻｲﾚﾝｻｰｻﾎﾟｰﾄｽﾃｰ/OK OK - Rok DVS exhaust support 4,180
H 0256.I0SX ｻｲﾚﾝｻｰｻﾎﾟｰﾄｽﾃｰ/KZ(L) Left Rok Junior - KZ exhaust support 4,180
I 0256.I0DX ｻｲﾚﾝｻｰｻﾎﾟｰﾄｽﾃｰ/KZ(R) Right Rok - KZ exhaust support 4,180
J 0256.IDSX ｻｲﾚﾝｻｰｻﾎﾟｰﾄｽﾃｰ/ROK SHIFTER(L) Left Rok Shifter exhaust support 4,180
K 0256.IDDX ｻｲﾚﾝｻｰｻﾎﾟｰﾄｽﾃｰ/ROK SHIFTER(R) Right Rok Shifter exhaust support 4,180

K1 0256.IE RKZ exhaust support 4,180
L 0256.FB Supporto marmitta Mini Kid Mini Kid exhaust support 0
M 0256.FC OTK ｻｲﾚﾝｻｰｻﾎﾟｰﾄｽﾃｰ NEOS/ROOKIE EV Mini NEOS exhaust support 4,180
N 0256.F0 OTK ｻｲﾚﾝｻｰｻﾎﾟｰﾄｽﾃｰ ROCKY Mini Rookie exhaust support 5,060
O 0256.M6X24 ｻｲﾚﾝｻｰｻﾎﾟｰﾄﾌﾞﾗｹｯﾄﾎﾞﾙﾄ 6x24mm (□) SPECIAL BOLT 6x24 mm 110
P V.TPSCEI10X40 ｻﾗﾎﾞﾙﾄ 10x40 TPSCEI Screw 10x40 mm 176
Q V.TE8X30 Vite TE 8 x 30 TE screw 8x30 mm 0
R R.P.6X12 ﾜｯｼｬｰ D.6x12 Washer Ø 6,3x12,5x1 mm 22
S R.P.8X17 ﾜｯｼｬｰ D.8X17 Washer Ø 8x17 mm 22
T R.P.10X22 Washer Ø 10x20x2 mm 22

T1 R.P.10X30X2,5 Washer Ø 10x30x2,5 mm 55
U 0228.00 ﾛｾﾞｯﾄﾜｯｼｬｰ M10/ALU Biconical AL washer Ø 10 mm 385
V D.M6A.B. ｾﾙﾌﾛｯｸﾅｯﾄM6 (ﾅｲﾛﾝ) A.B. nut M6 22
W D.M8A.B. ﾛｯｸﾅｯﾄM8（ﾅｲﾛﾝ) A.B. nut M8 33
X D.M10A.B. ﾛｯｸﾅｯﾄ M10(ﾅｲﾛﾝ)LOW A.B. Nut M10 66
Y 0063.00 ｻｲﾚﾝｻｰﾎﾙﾀﾞｰﾗﾊﾞｰ Rubber washer for silencer holder 308
Z 0060.00 Molla marmitta L. 130 mm Silencer’s spring L. 130 mm 550

0059.00 Molla marmitta L. 55 mm Silencer’s spring L. 55 mm 440
0059.A0 Molla marmitta L. 45 mm Silencer’s spring L. 45 mm 440
0059.B0 Molla marmitta L. 35 mm Silencer’s spring L. 35 mm 440


